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| Fron, Back and Total TKR Hits, Electron Beam Momentum [(GeVic) = 280, Anglu {da-g_] = 0 |
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| Fron, Back and Total TKR Hits, Electron Beam Momentum [(GeVic) = 280, Angla {deg] = 20 |

0.02
0.018
0.016
0.014
0.012

0.01
0.008
0.006
0.004
0.002

Data: Run 700001938

Fraction of Events

— MC: Run 1938

.'-IJ. : N ] . . : : Ll

=
HII‘||I‘III‘||I‘III‘|I|‘|I|‘|I|‘|II‘III‘II

=

A i 40
Total Front TKR Hits

Data: Run 700001938
— MC: Run 1938

Fraction of Events

=

o

=

]
|||I|IIII‘IIII‘IIII‘IIII‘IIII‘

m mﬁtal Back TKR Hﬁgu

Data: Run 700001938
— MC: Run 1938

Fraction of Events

=

o

=

]
|||I‘||||‘|I||‘|||||||||‘|II

R B
700 Total TER H%Eu

=
=]



| Fron, Back and Total TKR Hits, Electron Beam Momentum [(GeVic) = 280, Angla {deg] = 30 |
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| Fron, Back and Total TKR Hits, Electron Beam Momentum [(GeVic) = 100, Angla {deg] = 30 |
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| Fron, Back and Total TKR Hits, Electron Beam Momentum [(GeVic) = 50, Angln [da-gl] = 0 |
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| Fron, Back and Total TKR Hits, Electron Beam Momentum [(GeVic) = 50, Angla {da-gl] = 10 |
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| Fron, Back and Total TKR Hits, Electron Beam Momentum [(GeVic) = 20, Angln [da-gl] = 0 |
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| Fron, Back and Total TKR Hits, Electron Beam Momentum [(GeVic) = 20, Angla {da-gl] = 20 |
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| Fron, Back and Total TKR Hits, Electron Beam Momentum [(GeVic) = 10, Angln [da-gl] = 0 |
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| TW2, TW3 and TW2+TW3 TKR Hits Vs Planes, Electron Beam Momentum [GeVic) = 200, Angla {d-ag: = 30 |
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| MC to DATA Ratio TWZ, TW3 and TW2+TW3 Avaraga TKR Hits Vs Planes, Electron Beam Momentum [(GeVic) = 100, Angla :dag} = 10 |
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| MC to DATA Ratio TWZ, TW3 and TW2+TW3 Avaraga TKR Hits Vs Planes, Electron Beam Momentum [(GeVic) = 100, Angla :dag} = 20 |
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| MC to DATA Ratio TWZ, TW3 and TW2+TW3 Avaraga TKR Hits Vs Planes, Electron Beam Momentum [(GeVic) = 50, Angla tdag} = 0 |
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| MC to DATA Ratio TWZ, TW3 and TW2+TW23 Avaragu TKR Hits Vs Planes, Electron Beam Momentum (GeVic) = 50, Angle tdag} = 10 |
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